Manuals+ — User Manuals Simplified.

Danfoss H6-H8 Frequency Converter

=0

Danfoss H6-H8 Frequency Converter Instruction Manual

Home » Danfoss » Danfoss H6-H8 Frequency Converter Instruction Manual ™=

Contents

1 Danfoss H6-H8 Frequency

Converter

2 Product Information

3 Product Usage Instructions

4 FAQs

5 Mounting Instruction

6 Documents / Resources
6.1 References

7 Related Posts

Danfoss H6-H8 Frequency Converter

VLT
HVAC Basic Drive

Product Information


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/danfoss
https://manuals.plus/danfoss/h6-h8-frequency-converter-manual.pdf
https://manuals.plus/#danfoss_h6-h8_frequency_converter
https://manuals.plus/#product_information
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#faqs
https://manuals.plus/#mounting_instruction
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

« Specifications:
o Model Number: 130BB913.10
o Rev. Date: 2010-09-28
o IP Rating: IP21 (with LCP mounted)

Product Usage Instructions

« Step 1: Top Cover Installation
o Fit the top cover onto the frequency converter using M5 screws.
« Step 2: Bottom Cover Installation
o Fit the bottom cover onto the frequency converter and tighten an M4 screw.

o Note: IP21 rating is only achieved when the LCP is mounted.

FAQs

« Q: What is the importance of mounting the LCP for achieving an IP21 rating?

o A: The LCP (Local Control Panel) provides additional protection and sealing to ensure the IP21 rating is
maintained. Without the LCP, the device may not meet the required level of protection against solid
foreign objects.

« Q: Can | use different screw sizes for installing the covers?
o A:ltis recommended to use M5 screws for the top cover and M4 screws for the bottom cover as specified

in the instructions to ensure proper fit and secure installation.

Mounting Instruction

VLT® HVAC Basic Drive IP21/Type 1 Kit Mounting Instruction for H6 — H8

« Step 1 Fit the top cover onto the frequency converter with M5 screws.



1308891310

« Step 2 Fit the bottom cover onto the frequency converter and tighten an M4 screw.
o Note: IP21 is only achieved with LCP mounted.

Danfoss can accept no responsibility for possible errors in catalogs, brochures, and other printed material.
Danfoss reserves the right to alter its products without notice. This also applies to products already on order
provided that such alterations can be made without subsequential changes being necessary in specifications
already agreed. All trademarks in this material are the property of the respective companies. Danfoss and the
Danfoss logotype are trademarks of Danfoss A/S. All rights reserved.

« Rev. 2010-09-28
o MI.18.H1.02 — VLT® is a registered Danfoss trademark 1

Documents / Resources

Danfoss H6-H8 Frequency Converter [pdf] Instruction Manual
H6-H8 Frequency Converter, H6-H8, Frequency Converter, Converter



https://manuals.plus/m/24aabd0943a898a7ffa687c3f35aae31f969770c3b1f0fa39b6bc0483f151cc8
https://manuals.plus/m/24aabd0943a898a7ffa687c3f35aae31f969770c3b1f0fa39b6bc0483f151cc8_optim.pdf

References

+ User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manual.tools/?p=13059354#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Danfoss H6-H8 Frequency Converter Instruction Manual
	Danfoss H6-H8 Frequency Converter
	Product Information
	Product Usage Instructions
	FAQs
	Mounting Instruction
	Documents / Resources
	References



